9 8 S 3 | 2 |
| DIMENSIONS WITHOUT
TOLERANCES
DS/ISO 2768-
F
E
12
4
285 166(old) 11.5 :
@)
0
i O O O ,C_D ||
D
O
O . ) o
g o~
A \ / N| ©
~ O e O
Note,
‘ ' standard nut M4 = & pes. :
Lo Lock washer M4 = & pcs C
@) @) O o cut it in a separate zip bag in the package
11.5] 189
! | ™ -
1
Scale 1:1
Please see page 2/ 2 - - : - : - -
B
ITEM NO. PART NUMBER DESCRIPTION QTY.
1 From-E1032 EG=2.0 mm. 1
2 Gasket-E1032 T=2.0 mm. |
3 PEM FH-M4-12 X--N 8 ||
4 1700000030 Nut M4 8
5 1721480160 Lock Washer M4 8
6 2200000504 Powder paint interpon 610 silver fine texture 0.01
o o T MATERlAL THIS DRAWING REMAINS THE EXCLUSIVE
COSTOMER . Surface: mm?
Be|Jer Weight: g.
sy, || CRTOMERNO: w12
Sheet: 1/ 2 R | PR Sibtor plate from K30/E1032t0 X2 pro7 | 1) A3
All dimensions are in millimeter. e " sou |GPVITEMNO.: e P
9 8 5 3 l 2] /05/20.'8 SPW PROJECTNO.: N:\Mechonics\PTigm.!rs\BSejgein.i!:s\Z;DwEg(]Pvglglgxx\mwosl9-E1032\




10

149(old)

/ S 2
 28.5 166(old) 11.5
0
\ @) @) O o
i
) ’ | O~
\/ AN| o0
© PN © —| T
!
0
© © © S
11.5 | 189
257
Scale 1:1
20180519-E1032 BOO
Sheet2 /2
/ ) 2




	Sheet1
	Drawing View3
	Drawing View11

	Sheet4
	Drawing View13


